Z\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - DR XXX - 6'8, 7* & 8' Opague FG Nonlmp IS Dir Set Sidelites (TX 5134-5139\C - Drawings\TX-5136-37.dwg

THERMARTRU

DOORS
Fiber-Classic. & Smooth-Star.

WOOD OR COMPOSITE EDGE
OPAQUE FIBERGLASS DOUBLE DOOR
w/ DIRECT SET SIDELITES

INSWING
"NON-IMPACT"

EVALUATED FOR USE IN THE STATE OF TEXAS

The Fiberglass Door system described herein complies with the 2018 International
Residential Code (IRC), Sections R301 & Ré09 and the 2018 Infernational Building Code
(IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following conditions:

1.

2.

¢ A

Anchors shall be as listed and spaced as shown in the details. Anchor embedment fo
base material shall be beyond wall dressing or stucco.

When used in areas requiring wind-borne debris protection this product is required fo be
protected with an impact resistant covering that complies with Section R301.2.1.2 of the
IRC and Section 1609.1.2 of the IBC.

Allowable design pressure requirements must be equal to or less than the design pressure
rating shown in the design pressure chart, sheet 1 of this drawing.

Conditions not covered by this drawing are subject to further engineering analysis.

Fiber-Classic and Smooth-Star Door and Sidelite panels require the use of "J* part numbers.

These door and sidelite panels must be stained or painted within six months of installation.

TABLE OF CONIENTS
SHEET # | DESCRIPTION SHEET #
] Typical Elevations, Design Pressures & General Notes é Vertical Cross Sections
2 Door Panel Details 7 Frame Anchoring
3 Sidelite Panel Details 8 Hardware Details
4 Elevations 9 Bill of Materials & Components
5 Horizontal Cross Sections

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

P.0. Bex 230 Vairico FL. 33595

BUILDING CONSULTANTS, INC,
Phone No.: B13.658.9187

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS
CERTIFICATE OF REGISTRATION # F—11852

THERMA—-TRU
FIBERGLASS DOOR
TYPICAL ELEVATION, DESIGN

PART OR ASSEMBLY:
PRESSURES & GENERAL NOTES

PRODUCT:

BY

NOJ DATE

REVISIONS

DATE: 1/06/21

scAlE:  N.T.S.

DWG. BY: RW

105.5" MAX O.A. FRAME WIDTH
15.5" MAX. , "
ERAME WIDTH ! 74.5" MAX. FRAME WIDTH ———»l
J J
<
o8 6
sz | © o
=% X °© X
S
//// ////
2X DESIGN PRESSURE (PSF) DESIGN PRESSURE (PSF)
CONFIGURATION | REINFORCEMENT |  ASTRAGAL w/ FJ PINE JAMBS w/ COMPOSITE JAMBS
REQUIRED POSITIVE | NEGATIVE | POSITIVE | NEGATIVE
OXXO NO STANDARD +40.0 -45.0 +50.0 -50.0

CHK. BY: LFsS

DRAWING NO.:
TX-5137

SHEET _] oF 9

© 2021 R.W. BUILDING CONSULTANTS INC.



Z\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TD! - DR XXX - 6'8, 7' & 8' Opaque FG Nonimp IS Dir Set Sidelites (TX 5134-5139)\C - Drawings\TX-5136-37.dwg

/3\ VERTICAL CROSS SECTION

o f 4 i
Lo EXTERIOR 2375 1.2 g
~ NOTE: BOOK, HYBRID & U1 DOORS ,53; *
* MAY EACH BE FABRICATED AS WOOD g);_{?
o OR COMPOSITE EDGE DOORS. RN
[ 1 A tuly
i, . 5 S
t s \ i
HINGE STILE \ R CE
INTERIOR LOCK BLOCK LOCK STILE NN e
(ENGINEERED WOOD) EE— 12.5"LONG (WOOD)  (ENGINEERED WOOD) Rt
7“1 "\ HORIZONTAL CROSS SECTION
\_2_/ WOOD EDGE
1.2"
041" ——  |=— EXTERIOR —— 1875 ””’l — 0.41"
-1 ,- .
* VIR C Y Y :
‘ i \ COMPOSITE
CAP
INTERIOR LOCK BLOCK
CO’éiCP)S”E HINGE STILE — 12.5" LONG {WOOD) HINGE STILE
(ENGINEERED WOOD) 7“2\ HORIZONTAL CROSS SECTION (ENGINEERED WOOD)
\_2_/ COMPOSITE EDGE
L T i1} TOP RA"—
36" MAX. DOOR _35813"MAX.DOOR ____ 35813 MAX.DOOR ___ 1 - (COMPOSTTE]
PANEL WIDTH PANEL WIDTH PANEL WIDTH
z \ TOP RAIL 1
v {COMPOSITE/ _
% ENGINEERED WOOD) &
& ‘: ; ©
I ‘ ‘ AT roAamcore — ||
- 1 | | /2\ H — (POLYURETHANE -
~ Vo2 7 1.9 PCF MIN.)
5 5 5
= . w = " INTERIOR EXERIOR  INTERIOR EXTERIOR
o a m NES v %
= i =z
<C < <
O. 0.
% o/t % o[t % 0|t s
S x © 2 x o5 8 X ©|T Suh
2 oz oy * sogeln
= = = r “ H %
2 B 2 AT rseroLass s : : L
— (0.073" THK.) l
R BOTIOM RAIL
.7 (COMP.) L« 17 »j
b I I

/~ 4\ VERTICAL CROSS SECTION

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

P.O. Box 230 Vairico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.: 813.659.9197

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS
CERTIFICATE OF REGISTRATION # F—11852

THERMA—TRU

FIBERGLASS DOOR
DOOR PANEL DETAILS

PART OR ASSEMBLY:

PRODUCT:

BY

REVISIONS

NOJ DATE

oaE: 1,/06/21

ScalE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

‘ DOOR PANEL . DOOR PANEL . DOOR PANEL
BOOK Hybrid Door U1 Door

w WOOD EDGE

W COMPOSHE EDGE

DRAWING NO.:
T™X—5137

SHEET 2 oF 9

© 2021 R.W. BuiLpING CONSULTANTS INC.



Z:\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TD! - DR XXX - 6'8, 7' & 8' Opaque FG Nonimp IS Dir Set Sidelites (TX 5134-5139\C - Drawings\TX-5136-37.dwg

G1),G2

¥/]
7

@ HORIZONTAL CROSS SECTION
3

15.5" MAX.
FRAME WIDTH
L 13 MAX
D.L.O WIDTH
/
)
/
Lo 0
5 2 \3/| "7
w5
ja = N
{8 ]
3
(o]
; S O
o o
[v @] o
[+ 0]
/
74
7p
<
@ DIRECT SET SIDELITE FRAME

2"\ VERTICAL CROSS SECTION

3/

Z.t- 2y

Lyndon F. Schmidt, P.E.

GLAZING DETAIL
1" Insulated Glass

—=|  |=—1/2" GLASS BITE
4
g
9
7
%
PVC INSERT [
———1" O.A. THK. GLASS
BACKBEDDING
GLASS —=|  |=—1/2" GLASS BITE
18 GA. X 1" BRAD NAIL \ :i\
(LOCATED 1-1/2" FROM ENDS
& 4" O.C. THEREAFTER) N \ AR SPACE e INSERT
/ 1/8" TEMPERED —3/4" O.A. THK. GLASS
BACKBEDDING GLASS BACKBEDDING
COMPOUND STEEL SPACER COMPOUND
) 1/8" TEMPERED
GLAIING STOP (7/16" T Glass
GLAZING DETAIL 18 GA. X 1" BRAD NAIL Ny
@m (LOCATED 1-1/2" FROM ENDS T~ ARSPACE
& 4" O.C. THEREAFTER)
1/8" TEMPERED
BACKBEDDING — GLASS
COMPOUND STEEL SPACER
GLAZING STOP (7/16")
@ GLAZING DETAIL
3/4" insulated Glass
AR SPACE AR SPACE
1/8" TEMPERED 1/8" TEMPERED 1/8" TEMPERED 1/8" TEMPERED
GLASS GLASS GLASS GLASS
Q\ 8’) IIII g
EXTERIOR # INTERIOR 1" O.A. THK. GLASS —~] - Su 3/4" O.A. THK. GLASS < w
OF OF
o™ o
STEEL SPACER = STEEL SPACER =
GLAZING STOP \ * GLAZING STOP L\ m_i
(7/}6") (7/] 6“)
33 S }
[ ] BACKBEDDING BACKBEDDING
SIDELITE COMPOUND SIDELITE COMPOUND
ADAPTER ADAPTER

C) GLAZING DETAIL
3/4" Insulated Glass

TEXAS P.E. #104123

BUILDING CONSULTANTS, INC.
P.O. Box 230 Valrico FL. 33585
813.659.9197

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F-11852

THERMA-TRU

FIBERGLASS DOOR
SIDELITE PANEL DETAILS

PART OR ASSEMBLY:

PRODUCT:

BY

NOJ DATE

REVISIONS

DATE: 1/06/21

scalE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
T™X—5137

SHEET _3 oF _9

© zoz21 R.w. BuiLDing CONSULTANTS INC.



TONE SLNVLINENDOT ONIOTINg "M'd 1202 §

ZGBL1L—4 # NOUYHISIOEN 40 JLvOIdILNIO SNOISIAFY -
SHIINIONT IWNOISSIS0dd 40 a¥vog Svx3l SNOLLYATTI Ag J1vd JON

RwW
LFS

G68eE Tld ODWIDA 0¢Z xog "O'd
"ONI "SINVIINSNOD ONIgTINg

L616°659°¢l8 'ON occzm\h\h TAIBNISSY MO 1dvd

TX=56137

4000 SSY19M3gld
SZTIYOL# "A'd SVXAL NYL-VYAYIHL
‘A'd WPIYsS 4 uopulk] :Ag peundetd sjuewinoo( 112Na0xNd

DATE: 1,/06/21
scale:  N.T.S,

DWG. BY:
DRAWING NO.:

)
(=]
¥
&
&

CHK. BY:

SIGNATURE SERIES

F51

DEADBOLT: SIGNATURE SERIES (980)

DEADBOLT: B&0

KNOB:
KNOB:

SCHLAGE
KWIKSET

4
A4
O
q
>

SEE HARDWARE CHART

ELEVATION
OXXO

&>
\

)

als

D
X
q
\&/
LA~

Similar opaque panel configurations are aliowed
Panels shown are for illustration and are representative only.

/
Fiber-Classic/Smooth-Star Door Panel Options
Products approved include all embossed and recessed panel doors.

Bmpr2e-9€15-X1\sBuimesq - D\BELS-FELS X1) SBUIBPIS 185 41 I dwjuoN 94 anbedD 879 L ‘8.9 - XXX ¥a - 1AL\su] J0 3daq sexa) - G\LNINVINYId ML WY \SIUSID\Z



TON| SLNVLTINSNOG 9NIanng "m'd 1202 QO

[ DRYWALL

% j /— EXT. SHEATHING

A\

W

EXTERIOR

Q)

/"1 "\ HORIZONTAL CROSS SECTION

INTERIOR

ZS8LL—4 # NOLVMISIOFN 40 ILVOIHILNIO SNOISIAFY
SHIINIONT WNOISSI40dd 40 QuVOE SVXaL mzw&ﬁm%ﬁwwmmo A8 31va [ON Slalzlonl ~ 9_
e IE I
- s -z M
C60eE ot oo ey on o \Sq@ 'KIBN3SSY 90 18vd W ] i Bt P S
"ONI ‘SINVLINSNOS ONITING < g | 5*
4004 SSv19¥34l4 =B Ele &2
CZTLYOL# "A'd Swxal NYL—YALIHL i m olx|E &
I'd Ipluysg 4 uopuk] kg pedpdeld sjuswinooq 1ONAodd 218 W 5 W P
\...M </ lh
S S
& B
< E
//
7 O,
&) z
® &
o
Q
o]
z —® 3
g “«
o}
oz
| (¥]
-® g
oo
8
N
S
DR S
¢ (=)
: @ L S
~ @ =1 N
/S o U
, 1IN
& ® g
o~ o} 8
w—d | 5
ik
O ..
/@ N|2
— m 2
mw
o [2°4
. ) mH
‘. [T E
{ '4 m @ Z

Bmp'2€-9€15-X1\sBuimelq - D\BELS-ELS XL) SBU[PPIS 395 41 St dwijuoN 94 anbedO .8 18 L ‘8.9 - XXX YA - IAL\su| Jo 3daq sexay - G\LNINVINYId NiL euLBy1\sjudlD\'Z




CONL SANVYLTINSNGD aNIaG™ing "M'™ L2002 @

ZS8LL—d4 # NOLVMISIONN 40 ILVOLILLMED SNOISIASY
SYIINIONT TWNOISSIA0¥d 40 QdvO8 SVXaL mzo&%%mmw\momo A8 31vd [ON Slalzlol ~ 9_
. 0 L
LBLE'6GY'CLY I"ON ®uoyd : Nl M
GBGEE “14 OOUBA 0LZ Xog .o.m\w\ﬁgu ATEN3ISSY MO 1Mvd % _M ~ s o1
"ONI ‘SINVLINSNOD oNIdTing N ) z | 6_
4000 SSY19¥34Id | |&lgle &
SZLHOLF "3'd SVX3L NAL—YNEIHL m ol x| g
Td WPRUYDS 4 uopuk] :Ag pedodelq sjuswinoog :10NA0Yd 3 Zi 5 W 5
\N -\.h
i
3 ; 2
mw . o Lo o L
R TN & =z
QX it A
RN 2
T o ()
O S
: a
= 3
a
i I TS c
pm— 3=
M E
274 =
2 ¢ ®
9] 5
5 E =
B om
£ )
g
o]
ac
9]
> N.
O
P
&
- D >
L @ o]
\ i oo
® =
=
:
[»4
Fa
[ 1]
7
&
o 2 =
¢ 58
5 G
o x(o)s
[ 2]
%4 %]
E_ () g
5 S
G el
z =
£ S|Z
3 NPT =2
. v i [T
2 = -~ - >|E
1] & - -
S ™|
: /
5 \
S %
5 (< e = / O Y
£ x 5 m
5 ) - 2
| ¢ 5 2
= & ) i
' 28] —” @ [7e}
(9]
s ~ g
@ %)
i ¢
o a
z £
8 =z O
—t
£ A I
o
> / \ Y
] i
{274
; : @ §
) z 5
=4 >~
o} & Z
3 ©,
3 ®
o
(32
3
£
2
0=
Bl
Zl e

BmpL€-9€15-XINsBuIMELq - D\BELS-PELS X1) SBUfPPIS 195 41d S| dwiuoN D4 anbed( .8 78 .2 '8.9 - XXX YA - 1AL\sU[ J0 3daQ sexs | - G\ININYNYId NL BULIBYI\SIUSHONZ



"ON] SINVLIINSNDOD DNIOTUNE M"Y L1202 @

ZG8L1~4 # NOIVALSIOZN 4O 3LVOIAILNEO SNOISIAZY -
SHIIANIONI TYNOISSIA0¥d 40 Q¥vOE SVXAL INIYOHONY IV A8 31va [ON Slalzlol 9_
0 Lo
L6L6'6S9°CLR ION 8uOYd : Nl ial P
GEGES 14 OOUIBA 0CZ Xog .o.mgg NTENESSY 80 Ldvd % _..Nl P al°
"ONI *SINVLINSNOO ONIGTNg DA O I 7_
d00d SSY194391d4 = |&&le &
SZLPOL# ‘I'd SwxaL NYL-YASIHL = m oyl &
“A'd IPIUYOS 4 Uopukl  ihg pedpdedd syuswnoog *10Naodd 5|81813 m 5
4
=
<
o
0
m —_
O
E3=
ol&
—
o
=
<
b ]
1T -
Za
. . [da) o0 EE

— M\I {'dAL) .9 _ ‘ XYW.S1 /

¢ JAMBS
]
1) —
]

|

4'(TYP))
4" (TYP)) -—[
SEE DETAIL |
(SHEET 8
(TYP.)
SEE DETAIL 2
(SHEET 8)

ASTRAGAL

4'(TYP)

4" (TYP.) -j
I w\l I
/"{\‘l/
OXXO
FRAME ANCHORING

HEAD & JAMBS
(TYP.)

!
-
]

—
——
—
a—
a——

e

2X FRAMING
(TYP.)

DOOR FRAME
(TYP.)

Bmp'2€-9€15-X1\sBUIMeIQ - D\MBELS-FELS X1) SBNIPPIS 395 41 SI dwjuoN 94 anbedO ,8 79 .L ‘8.9 - XXX ¥A - 1AL\SU| J0 31daQ sexa] - G\LNINVINYId ML BWISYL\SIUBID\Z



TN SINVLINSNOD aNIgung "Mm'd L2202

2S8LL—d4 # NOUVMISIOZM 40 ILVOIALLNID SNOISIAFY -
SHIINIONT TVNOISSI408d 40 Q¥VOS SVX3L SIVLIA IHVMONVH Al 31va [ONJ =0 ~ 9_
) N v
L6L6°6SS'CLE ION euoyd : N x My
G6SEC 14 OOUIDA 0SZ Xog .o.m\a\h@ -ATEBNISSY HO Ldvd Wb _M - . :1u é
‘ONI ‘SINVLINSNOO ONigUNng N . 2 | 8_
400d SSY19438!4 = B Ele &
SZLYOL# 3'd SvXIL NYL-YWHIHL @ gl &
‘A'd PIUYDS "4 UOPUAT  :Ag peupdeld sjuswInooq 11ONA0Md S 2|5 m &

G m M@

h\\
‘%
h\
v
HINGE DETAIL

—
©vooo
Q CONCRETE

GWVT 40 . ¥00d i¥gAH/ LN

dOLWO¥4 .51 1L ('dAL) .S2°6C /4
GWVr 40 J¥OOA Y004

dOLWO¥4.ST'LL ('dAL) ST 6T

Inswing

HINGE JAMB
Y
DETAIL 2

SEE HINGE
DETALL ({TYP.)

Coastal Astragal Sirke Plate @ Sill

LATCH & DEADBOLT STRIKE DETAILS

=
)

T}A:mﬁ-*lv :wvilll'llnl' m
Alll:mw.m -t O
L 33 .
m BEtal) | m.m 17 @
X
O
\ K & :
2 2
e o] O
53 - o
= = -0
MDm o
Eﬂ <l
Haeoe ao Gl=
D % al8
- g
5
<
5
1\ 3
\ Q

LATCH & DEADBOLT DETAIL
Schiage / Kwikset

Bmpr£-9£1L5-X1\sBumelq - D\BELS-PELS X1) SBUIBPIS 385 41Q S| dwiuoN 94 anbedO ,8 18 L '8.9 - XXX ¥Q - 1L\sul Jo 1dag sexa) - G\LNINVNYId NiL BUIBYL\SIUBID\NZ



ZAClients\Therma Tru PERMANENT\B - Texas Dept of Ins\TD! - DR XXX - 6'8, 7' & 8' Opaque FG Nonimp IS Dir Set Sidelites (TX 5134-5139)\C - Drawings\TX-5136-37.dwg

BILL OF MATERIALS

TEM # DESCRIPTION MATERIAL
B | 2X BUCK (G >= 0.42) WOOD
C | 1/4"MAX. SHIM SPACE -

D | 1/4" PFH DeWALT OR TW CONCRETE SCREW STEEL
F__ | #10 X 2" PFH WOOD SCREW STEEL
L | #10X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMBEDMENT) STEEL
1 [WOOD JAMB (FINGER JOINT PINE ) WOOD
2 | COMPOSITE JAMB COMP
7 | WEATHERSTRIP FOAM
8 | DOOR SWEEP VINYL
10 | #10 X 1-1/2" PFH WOOD SCREW STEEL
19| STANDARD ALUMINUM ASTRAGAL ALUM
22 | #8 X 3/4" PFH WOOD SCREW STEEL
23 | #9 X 3/4" PFH WOOD SCREW STEEL
24 | #9 X 1" PFH WOOD SCREW STEEL
25 | #8 X 1-1/2" PFH WOOD SCREW STEEL
26 | #8 X 5/8" PFH WOOD SCREW STEEL
27 | LATCH STRIKE PLATE STEEL
28 | DEADBOLT STRIKE PLATE STEEL
28A | DEADBOLT SUB STRIKE PLATE STEEL
29 | 4'X 4 HINGE STEEL
32 | INSWING THRESHOLD ALUM/COMP
33 | INSWING THRESHOLD w/ SIDELITE ADAPTER ALUM/COMP
40 | DOOR PANEL (BOOK) ;
41 | DOOR PANEL (HYBRID] ;
42 | DOORPANEL (UT) )
50 | SIDELITE PANEL -
80 | ASTRAGAL STRIKE PLATE STEEL
CONCRETE ANCHOR NOTES:

. Concrete anchor locations at the comers may be adjusted fo maintain the min.
edge distance to mortar joints.

—

. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to

maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

. Concrete anchor table:

mw

] / 4n 1 _3 / 4" 2" 4n

TAPCON®
DeWALT - i . )
utrRAcons| 14 1-3/4 1 4

WOOD SCREW INSTALLATION NOTES:

. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of

wood screws fo prevent the splitting of wood.

2o
B ey
i & =ap o
S 456" - Boa 27
223 28
T 43¢ BE
3>0 Qg
58 g
S O I o
m o n.%
k] % 32 un
| | : §%g 00
e 236" —| f B R8f %
WOOD JAMB = 4.56" . o § 2
&
. 212" f
@ COMPOSITE JAMB x 9,
5 x>
s i
toy | 58
<0 |15 £
=23 |p T=
Lo Z L0
[=— 2.08" —+| S 1
583" | 1 N
5 x @
>
"f"’ SIDELITE . e g
«, ADAPTER 3 & &
— T o~
l >
i m
32 | INSWING THRESHOLD
Adjustable Composite Sill - 5.83"
33} INSWING THRESHOLD w/ SIDELITE ADAPTER o
Composite Sill g
0
ol
o
[__. 1.91" —=
Ll
THERMAL 0063 3 S
BREAK 2
FLUSH %'
BOLT
FLUSH BOLT DATE: 1/06/21
RETAINER 4 ScAE:  N.T.S
»»JL«- 0.063" R
DWG. BY: RW
STANDARD ALUMINUM ASTRAGAL e By, LFS
@ DRAWING NO.:
TX—5137

Lyndon F. Schmidt, P.E,
TEXAS P.E. #104123

SHEET 39 oF 9

© 20217 R.W. BUILDING CONSULTANTS INGC.



